Please have your homework on your desk. Calculator? Yes!
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October 23, 2017

P Adelivery service company maintains several vehicles. The table summarizes the cost i
or auto insurance related to the number of vehicles insured. Using the equation of aline

ehicles? )(5-;(1

f best fit for the data, which is the closest estimate of the total cost of insuring.
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3 Whatis the equation of a line with a slope of - % and the point (-6, -5)?
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4 Write a linear inequality for the graph below.
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Using #1-4 above, identify if the following points are solutions to the SYSTEM of inequalities. 1f the
point s in the shaded region, it is a solution to the system.
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